Falu BK
Simultan 2018-10-28

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac Par Poang % Namn MID Klubb
1 7 167.57 58.19 Inger Backlund - Lena Gronberg 54782 45128 Falu BK
2 4 166.08 57.67 Carina Camara - Hans Andersson 42006 43255 Falu BK - Borlange BK
3 3 161.61 56.12  Yvonne Sundin - Sten Lundén 54461 27875 Falu BK - Borlange BK
4 6 156.07 54.19  Gunbritt Dalmanner - Inga-Lill Nordin 43432 41414 Falu BK
5 5 154.59 53.68  Rogert Deiwall - Klas Lofgren 23284 19303 BK Dalom - Rattviks BS
6 1 148.84 51.68 Louise Fredriksson - Miro Bakrac 46201 51547 BK Dalom - Falu BK
7 10 146.82  50.98 Inger Farjeson - Lisbeth Anvill 27432 45267 Falu BK
8 11 146.82 50.98 Lisbet Mattsson - Annelie Strom 57723 60347 Borlange BK
9 9 136.04 47.23 Lars-Ake Jansson - Stig Ericson 44576 31684 Falu BK
10 8 135.73  47.13  Ingrid Engstrom - Kerstin Edstrom 44696 42009 Falu BK
11 13 134.13 46.57  Joyce Fahlstad - Beate Haslum Nilsson 93477 51541 FaluBK
12 12 125.11 43.44  Lars Thuresson - Hans-Erik Hedstrém 19344 429 Falu BK
13 14 118.81 41.25 Mona Svevar - Gunnel Kling 54215 54779 Falu BK
14 2 117.79 40.90 Agneta Uddenberg - Marianne Kierkegaard 48445 48444 Falu BK
1 & EKn87 Bésta kontrakt 2 & Kn2 Basta kontrakt 3 & EKn4 Basta kontrakt
Nord v Kn1085 44 N D -1-100 Ost v 7653 54 O D -3 500 Syd v K8654 5v S =450
Ingen +543 NS + KD1096 ov +8
#92 & ¢ v & NT #Kn5 & ¢ v & NT #10962 & ¢ v & NT
4K109 D643 N9 4557 4106 4984 N5 9 109 5 D96 410872 N 106 117 9
vD732 vE96 S 94557 v92 v EK10 S 59 109 5 v10732 v9 S 106 117 9
¢ EKKn9 ¢ D872 0497765 + Kn85 4432 082322 + D106 ¢ KKn932 027 26 4
*74 #Kn3 V49775 #KD10432 #E987 V82322 *E84 #DKn3 V27264
452 « EKD753 « K53
v K4 v DKn84 v EDKn
+ 106 ¢ E7 ¢ E754
#EKD10865 *6 *K75
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut  Res Poang
8 14 3v V-3 9 150 120 00| 4 6 44 S+l K 650 11.0 10| 5 7 3NS+1 v2 430 12.0 0.0
3 11 3#S= ¢A 110 90 3.0[13 1 44 S+l «K 650 11.0 10| 4 12 4v S= ¢Q 420 9.0 3.0
4 6 24S+1 ¢A 110 9.0 30| 3 11 44 S= &2 620 70 5.0[10 11 4v S= A 420 9.0 3.0
2 5240-1 *A 50 40 80| 8 14 44 S= #2 620 70 50| 1 8 2vS+1 ¢6 140 50 7.0
9 10 3¢ V-1 9 50 40 80|12 7 24 S+3 «Q 200 40 80| 9 14 2v S+l «4 140 50 7.0
12 7 3¢ V-1 %9 50 40 80| 9 10 34 S+1 «K 170 20 100| 3 6 4vS-1 6 -50 1.0 11.0
13 1 3#S-1 ¢ A -50 0.0 120| 2 5 44V-3 a] 150 0.0 120|113 2 4vS-1 46 -50 1.0 110
4 4543 Bésta kontrakt 5 4 Kn1094 Bésta kontrakt 6 4 D5 Bésta kontrakt
Vast vK9 44 V =-620 Nord vEK 2NT O =-120 Ost v D109542 5v S =450
Alla +D1092 NS +82 ov + K972
#E432 & ¢ v & NT #KKn874 & ¢ v & NT *2 & ¢ v & NT
« DKn1076 #E8 N7 4333 4D8765 &K N8 456 4 4K109832 474 N7 7 116 10
v EKn6 v 108543 S7 4333 vDKn975 v104 S 8456 4 v- v 8763 S 8 8 116 10
¢ KKn543 ¢ E76 06 9 109 9 +9 ¢EKD10543 O 4 8 8 7 8 ¢+ D84 ¢ EKn65 05527 3
- «KD6 V 6 9 10109 *E3 #1096 V48878 «D1097 %853 V55273
& K92 4 E32 & EKn6
vD72 v 8632 v EKKn
+8 +Kn76 +103
#Kn109875 #D52 #EKKn64
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 12 3NO-3 ] 300 120 00| 4 7 3¢ 0-1 *2 50 120 0.0|14 10 4vDN+1 &K 690 12.0 0.0
3 6 3NO-2 LN 200 90 30| 2 9 2¢0+1 *Q -110 6.0 6.0|13 3 4v N+1 ¢A 450 100 2.0
5 7 3NO-2 ] 200 90 30| 6 8 2¢ O+1 *Q -110 6.0 60| 5 1 3NS+1 43 430 70 5.0
1 8 4v0-1 ] 100 50 7.0[11 12 3¢ O= oA -110 6.0 6.0 6 8 3NS+1 43 430 70 5.0
10 11 4v O-1 *J 100 50 7.0[(13 3 2¢ O+1 *2 -110 6.0 6.0|11 12 4v S= T 420 40 8.0
9 14 34 V= *A -140 20 10.0(14 10 3¢ O= s A -110 6.0 6.0 2 9 3v N+2 ¢+A 200 2.0 10.0
13 2 44 V= 43 -620 00 120| 5 1 34 N- vT -200 00 120| 4 7 4vyN-1 a7 -50 0.0 12.0
7 4 Kn7643 Bésta kontrakt 8 D6 Basta kontrakt 9 + 1075 Basta kontrakt
Syd vE74 34V =-110 Vast v EK9 5NT N =460 Nord v K87 3vy ND-1-100
Alla + K73 Ingen ¢ EKKn762 ov +E763
#32 & ¢ v & NT *E4 & ¢ v & NT #976 & ¢ v & NT
4 KD 4 852 N48587 48742 4 KKn5 N9 119 1111 4 EK64 4 D982 N75855
vKKn2  v10965 S 48587 v D87 v Kn632 S 8 119 1011 vD9 v Kn65 S75855
+ D54 +108 09 3835 +D1095 +4 042222 49854 ¢ KDKn 057586
#KD765 #EKn98 V93835 +Kn7 #D10952 V42322 #1085 #DKn2 V57586
4 E109 4 E1093 4 Kn3
v D83 v 1054 v E10432
+ EKn962 +83 + 102
»104 *K863 #EKA43
Par Kontr Ut  Res Poang Par Kontr Ut  Res Poang Par Kontr Ut  Res Poang
12 1 34 N= #A 140 120 0.0| 3 10 3NN+1 9 430 120 0.0|12 14 2v S= A 110 120 0.0
5 8 24 N= v6 110 100 20| 5 8 3NN= «9 400 70 50 1 2 340-1 «A 100 9.0 3.0
3 10 INV-1 46 100 80 40| 6 2 3NN= «2 400 70 50 7 3 340-1 T 100 9.0 3.0
6 2 INV= 43 -90 50 70| 7 9 3NN= &2 400 70 50| 4 11 24 V= vK -110 30 90
13 4 INV= a2 -90 50 7.0[12 1 3NN= «2 400 70 50| 6 9 24V= v7 -110 30 90
7 9 24V+2 vA -130 20 10.0|14 11 3¢ N+1 «2 130 20 10.0| 8 10 24 V= vK -110 3.0 90
14 11 INV+2 vA -150 0.0 12.0|13 4 3NN-1 *2 -50 00 12013 5 24 V= v7 -110 30 90
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10 « KDKn1097 Basta kontrakt 11 4 ED1098 Basta kontrakt 12 4963 Basta kontrakt
Ost v 1095 5NT O =-660 Syd v 107 44V =-130 Vast v 97632 54 V =-450
Alla 465 Ingen + Kn942 NS 754
£98 & ¢ v & NT *32 & ¢ v & NT *76 & ¢ v & NT
& 852 «E43 N25362 32 ~ K74 N38586 « EKn1087 4 D542 N8 2424
vK2 vKn763 S2556 2 vE2 v D9543 S38586 vD105 v KKn8 S82424
¢ Kn8 ¢ EKD 0118 8 7 11 ¢10653 K 0104 7 4 6 ¢+ ED83 ¢ K92 O 5 109 115
#EKD764 #1053 vV 118 8 7 11 #ED1095 #K876 V 104 7 4 6 *4 #985 vV 5 109 115
6 # Kn65 &K
vED84 v KKn86 vE4
41097432 + ED87 + Kn106
#Kn2 *Kn4 #EKDKN1032
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 14 24 N-1 *A -100 120 00| 5 12 34 N= v4 140 11.0 10| 1 14 44 V-1 *7 50 11.0 1.0
6 9 3sV+2 & K -150 10.0 20| 7 10 24 N+1 ¢+K 140 11.0 10| 7 10 44 V-1 *7 50 11.0 1.0
13 5 5#0-= 46 -600 80 40| 1 14 2¢ S+1 vA 110 70 50| 2 3 44S-2 s A -200 6.0 6.0
1 2 3NO+1 +3 -630 6.0 6.0 9 11 3¢ S= vA 110 70 50| 9 11 34 V+2 *7 -200 6.0 6.0
4 11 3NV +2 oK -660 20 10.0[13 6 24 S= vA 90 40 80|13 6 4#S-2 & A -200 6.0 6.0
7 3 3NO+2 46 -660 20 100 2 3 3v0O-1 45 50 20 100| 8 4 4a V= *7 -420 2.0 10.0
8 10 3NO+2 *T -660 20 100 8 4 44 N-2 *7 -100 0.0 120| 5 12 54DS-3 4A -800 0.0 12.0
13 & KKn86 Bésta kontrakt 14 aD Bésta kontrakt 15 49 Bésta kontrakt
Nord v DKn1062 6¢ O =-1370 Ost v EKKn9 ANT S =430 Syd v7 ANT V =-430
Alla ¢- Ingen ¢+ EKKn4 NS + 108763
#KDKn9 & ¢ v o NT #KDKn6 & ¢ v & NT #E107432 & ¢ v & NT
& 94 « ED1072 N7 1741 sE74 » Kn986 N 10109 9 10 4 KD2 » E10654 N7 6 433
v K8 vE S717 41 v10653 vD82 S 10109 9 10 vEKG62  vKn95 S77 433
+ KKn1098762 ¢ D54 06 125 9 9 +8752 96 032343 ¢+ D4 ¢ K92 06 6 9 1010
»2 #E653 vV 6 125 9 9 *84 #E1052 V32343 #KKn85 #D6 V 6 6 8 1010
453 « K10532 «Kn873
v 97543 v74 v D10843
+E3 + D103 ¢ EKn5
+10874 2973 *9
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
3 4 3vN= A 140 120 0.0| 8 11 3NN+2 #2 460 120 00| 7 2 4aV-1 v7 50 12.0 0.0
14 2 24 0= *A -110 100 20| 9 5 3NN+1 6 430 80 40|10 6 3NV= &7 -400 9.0 3.0
13 7 4¢ VH2 vQ -170 80 4.0(13 7 3NN+1 #2 430 80 40(13 8 3NO= v3 -400 9.0 3.0
8 11 4vDN-2 #A -500 6.0 6.0(14 2 3NN+1 #2 430 80 40| 9 12 44 0= *A -420 40 8.0
6 1 5¢V+1 +K -620 30 9.0] 3 4 3NN= «2 400 40 80|11 1 4eV= v7 -420 40 8.0
9 5 5¢V+l *K -620 30 9.0|10 12 2¢v N+1 42 140 20 10014 3 4v V= *A -420 40 8.0
10 12 44aDO= ¥3 -790 00 120| 6 1 1&4N+3 +9 130 0.0 120| 4 5 3NV+1 *2 -430 0.0 12.0
16 D52 Basta kontrakt 17 46 Basta kontrakt 18 « Kn874 Basta kontrakt
Vast vEDS53 3v N =140 Nord v EK10 3vy OD-1100 Ost v K9642 6¢ O =-920
oV +94 Ingen + K109852 NS + 102
#10762 & ¢ v & NT #Kn42 & ¢ v & NT 108 & ¢ v & NT
+ K964 » 1083 N86 977 4 ED9432 45 N8 6 56 8 QEDG » 105 N21761
v K7 v Kn109 S87 987 v- vDKn876432S 9 6 5 6 8 v EKn87 S21761
¢+ DKn1082 ¢ K63 056 456 ¢ Kn43 ¢+ D76 ©46 864 0EKDKn963 ¢ 754 O 10126 6 11
*K5 #Kn843 V56456 «D973 *E V46864 #Kn73 *ED42 V 10126 6 11
& EKn7 # KKn1087 & K932
v 8642 v 95 vD1053
¢ E75 ¢E +8
#ED9 #K10865 #K965
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 1 3v S= ¢+Q 140 11.0 10|11 7 59DO-4 +¢A 800 120 00| 8 3 2¢V+4 a7 -170  10.0 2.0
13 8 2v N+1 ¢+K 140 11.0 10| 4 14 4¢DO-2 +¢A 300 100 20|11 7 3¢ V+3 a4 -170 10.0 2.0
7 2 2vS-= +Q 110 80 40 8 3 3v0O-2 ¢+A 100 80 40(12 2 2¢V+H4 &T -170  10.0 2.0
9 12 2¢ O-1 «2 100 60 6.0[(10 1 3vO-1 *A 50 6.0 6.0 4 14 INO+6 »5 -270 6.0 6.0
4 5 2NS-1 +Q -50 20 100(12 2 6¢ N-4 *A -200 40 80|10 1 3NV+2 v9 -460 3.0 90
10 6 INS-1 2 -50 20 100| 5 6 54DS-5 ¢3 -1100 1.0 11.0(13 9 3NO+2 *6 -460 3.0 90
14 3 INS-1 +Q -50 20 10013 9 5¢DN-5 &A -1100 10 110 5 6 4vDN-3 @A -800 0.0 12.0
19 « ED1098 Bésta kontrakt 20 & EK765 Bésta kontrakt 21 & Kn86432 Bésta kontrakt
Syd vEG3 24 SD-1-100 Vast v K9 3v N =140 Nord vKn108 5& O =-400
oV ¢ 953 Alla + Kn102 NS ¢ KDKn8
#DKn & ¢ v & NT #EK3 & ¢ v o NT *- & ¢ v & NT
a5 & K6432 N55465 4 Knl1042 D83 N76 976 « ED7 K109 NO9361
vKD97 vKn84 S55475 v Kn85 vEG6 S76 976 v5 v EK9763 S09361
¢ EKD10 +62 O7 6 86 6 + D964 ¢ EK5 06 6 365 +97 ¢54 O 114 8 6 8
#6542  #K103 V76866 »86 #Knl0952 V 6 6 3 6 6 #EKD9852 #Kn7 V 114 8 6 8
«Kn7 49 45
v 1052 vD107432 v D42
+ Kn874 + 873 + E10632
*E987 +D74 #10643
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
13 10 INS+1 ¢A 120 120 00| 5 14 2¢vy N+1 &5 140 120 00|13 11 5v O-2 «5 100 12.0 0.0
11 2 1a N+1 ¢6 110 100 20| 1 3 2NN= *J 120 100 20| 7 8 3NV-1 +K 50 10.0 2.0
6 7 INS= *A 90 80 40| 9 4 24N-1 *A -100 6.0 6.0 2 4 584V= +K -400 70 5.0
12 8 14 N= +6 80 6.0 6.0([12 8 24 N-1 vA -100 6.0 6.0[{10 5 58V= +8 -400 70 5.0
1 3 24 N- v4 -50 30 9.0(13 10 2NN-1 *9 -100 60 60 1 9 4v 0= a5 -420 2.0 10.0
5 14 24 N- *2 -50 30 9.0 6 7 3NN-2 *J -200 10 110(12 3 4vO= 45 -420 2.0 10.0
9 4 2v V= 28 -110 0.0 120|11 2 2NN-2 *J -200 10 110(14 6 4vO= a5 -420 2.0 10.0
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22 4 Kn953 Basta kontrakt 23 4 D1095 Basta kontrakt 24 4106 Basta kontrakt
Ost v Kn1062 54 S =450 Syd v DKn854 4¢ V =-130 Vast v E86 5v N =450
ov + KKn Alla .- Ingen + KKn87
&#K65 & ¢ v & NT &EKNn107 & ¢ v & NT #DKn106 L Y
& E7 « D64 N6 6 11118 4 E8 & KKn74 N5 3754 & KKn8543 & E972 N 1111116
v75 v 98 S 6 6 11118 vK109 v72 S53754 v Kn2 v 943 S 1111116
4109432 ¢ E876 O76 222 41092 ¢+ EKKn86 O 8 106 8 8 +54 + D32 02127
&#D1092 #Kn873 V76222 &#KD954 #32 V 8 106 8 8 &#E93 &542 va21l1217
4 K1082 4632 aD
v EKD43 v E63 v KD1075
+ D5 ¢ D7543 + E1096
»E4 »86 #K87
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 9 4v S+1 oA 450 70 50| 1 4 3NV-3 v4 300 120 00| 8 9 4v S+l +4 450 12.0
2 4 49y S+1 ¢T 450 70 50(13 12 3NV-2 vQ 200 100 20|13 12 4v S= a5 420 10.0
7 8 4v S+l oA 450 70 50| 8 9 3NV-1 49 100 70 50|11 6 3¢ N+1 4A 130 8.0
10 5 4v S+1 oA 450 70 50|14 7 5¢0-1 vA 100 70 50 1 4 34V-2 &Q 100 5.0
12 3 4v S+1 oA 450 70 50| 3 5 3¢ 0+1 vA -130 30 90| 3 5 4eV-2 vA 100 5.0
13 11 4v S+1 aA 450 70 50|11 6 2¢ O+2 vA -130 30 90| 2 10 24 V-1 *Q 50 10 1
14 6 3v S+2 aA 200 0.0 12.0| 2 10 4vy N-3 ¢ A -300 0.0 120|14 7 34 V-1 vA 50 10 1

PENNANO
coooooo
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